a(d cot(d))
5

(0 @) (rad)

=
<
N

1073

SO NPT MO | 1 | R

10

Ratl

- e - - = 25 TR L

+

H
B
M
4
I
A
4
"

4
N
EE e
.
4
+
+
I
A
4
+
+
E
e

T

=) 1

=8

— 3
10 1 10 02 1
TP, (PCA t% beamling
—=— DQM_V0001_R000000001__Global__mkFit_noCAND
—— DQM_V0001_R000000001__Global__mkFit_CAND
—+— DQM_V0001_R000000001__Global__mkFit_batchCAND-adjusted

SICEWACL
oloa) (cm)

107

1072

.910\—1%_ N .! — .! \ ......! L o i . \ ......! L
5 E 1| L4 + 5 T E T
@ Ih=----- + b b AREEE SRR ELEEEEN o .05 ----1Ft1tet1 et -kt
F k : E §
0.95 :_ """ LHATHAFHAF - ' """"""" 1:— ----- +| 1 - {4 - 1Hr-:‘1HHH|— [ R - ............
E T . o 4T + 14
0.95~ : * = 5 0.955— : = 5
10™ 1 10 0 . 10 1 10 0 .
TP P, (PCA t]C) beamling TP P, (PCA t]C) beamliné
-
o
e
o
=)
o

,_.
<
L

—1 I : 2 3
10 1 TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


